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ECONOMICS HSSC-I
SECTION — A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i) Economic problem arises because of:
A Greed B. Scarcity C. Dishonesty D. Laziness
(ii) If marginal utility of 4 units of a good is 10,8,6,4 then total utility is equal to:
A. 10+8+6+4 B, 10x8x6x4  C. 191?# D.  None of these
(iii) In demand equation 0 =20-2P,0Q is a variable.
A Continuous B. Discontinuous C. Independent  D. Dependent

(iv) The elasticity of demand for a product is less than unity so with a fall in its price, total expenditure of
the consumer will:

A Fall B. Rise

C. Remain the same D. Fluctuate
(v) The quality of a commodity that satisfies some human want or need is called:

A Service B. Demand C. Utility D. Efficiency
(vi) When marginal utility is negative, it must be true that:

A Average utility is negative B. Average utility is constant

C. Total utility is negative D. Total utility is decreasing
(vii) If elasticity of supply is greater than one, supply curve will be:

A. Horizontal | B. Vertical

C. Passing through origin D. Passing through Y-axis
(viii) is a decreasing function of price.

A Supply B. Demand C. Cost D. Production
(ix) Except all of the following are included in labour:

A Coliege Principal B. Professor

C. Office Clerk D. Student
(x) In MR (Marginal Revenue) is always equal to price.

A Perfect competition B. Monopoly

C. Both A and B D. None of these
(xi) Liquidity preference theory of interest was presented by:

A J.M. Keynes B. Alfred Marshall C. David Ricardo D. Robbins
(xii) Except alf of the foliowing are caused by fast growing population of a country.

A Unempioyment B. Poverty

C. Food Shortage D. Increase in rate of divorce
(xii)  When price remains the same and supply rises, it is called:

A Extension in supply B. Rise in supply

C. Fall in supply D. Contraction in supply
(xiv)  The law of increasing return is also known as law of:

A Increasing cost B. Decreasingcost C. Equal cost D. None of these
(xv) When average cost (AC) curve rises, marginal cost (MC) curve remains:

A Above AC B. Below AC C. Equal to AC D. None of these
(xvi)  All factors of production are variable in:

A Market period B. Short period  C. Long period D. None of these
(xviiy  With an increase in supply of labour, wage rate will:

A Fall B. Increase

C. Remain constant D. None of these
(xviii) The supply price of land is considered to be zero because:

A Its supply is limited B. Its supply is infinity

C. Its cost of production is zero D. Its demand is limited
(xix)  Who was the exponent of Walfare economics?

A Alfred Marshall B. Adam Smith  C. Robbins D. Keynes
(xx) The utility of an additional unit of a product is:

A Marginal utility B. Total utility 103 Negative utility D. Average utility
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ECONOMICS HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
(i) Define economic goods.
(i) Differentiate between independent variables and dependent variables.
(iii) Define real wages.

(iv) What is meant by horizontal mobility of labour?

(v) Find equilibrium price and quantity from the given equation:
Qd = 50-5P
Qs =18+ 3P

(vi) How does the concept of diminishing marginal utility guide the finance minister?
vii) Draw a demand curve with the help of functional equation Qd=30 — 5P

viiiy  Why indifference curves in an indifference map do not intersect?

iX) Write down three motives of demand for money according to Keynes.

X) Define income Elasticity of demand with formula.

xi) Define perfect competition.

(
(
(
(
(
(xii) Is economics a Science or an Art? Justify.
(xiii) Define windfall profit.

(xivy  Why law of diminishing Returns is considered as a universal law.
(xv) Define exchange of wealth.

(xvi)  What is meant by joint stock company?

(

xvii)  Find functional equation of supply from the given data:

P Q
1 15
2 20

(xviii) Define unemployment.

(xix)  Define changes in Demand.

(xx) Define Normative and Positive economics.
(xxi)  What is the importance of economic law?

b. Attempt any ONE part. (1x5=5)
(i) Explain law of demand.
(i) Use the following data to calculate Marginal product and Average product:
Labour Total Product MP AP
1 15
2 34
3 51
4 65
5 74
6 80
7 83
8 82

SECTION — C (Marks 30)
Note: Attempt any THREE questions. All question carry equal marks. (3x10=30)

Q.3  Explain short run and long run equilibrium of a firm under monopoly with the help of diagram.

Q.4 How are LAC (Long run Average Cost) and LMC (Long run Marginal Cost) curves derived from
short run cost curves?

Q.5  Explain law of diminishing Marginal utility.

Q.6  Explain Ricardo’s theory of Rent with the help of diagrams.
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